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Calculate the following value.

Calculate the following value.

log 5 9 log , 8
log , 32 2
log 5 3 log , 4
log , R |
log,;1 log , 2
log 4 R
log 5 % log , 1
log ; 3 ! 1

1
log 5 5 log , >
log ; 3 2 2

Draw the following graph.

lo 1
9 3

lo 2
9 5

lo 4
9 5

log 13- log 4 5~
1
3

Draw the following graph.
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Solve the following inequality.
log;x 2 log,x 3
x 0
2

\Z
;L, 1 ,,,,;L ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
o] 1 X
Solve the following inequality.
log 1 x 2 log 1 x 3
3 2

: 1
1\ 1
X (3) 9
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Calculate the following value.

log , 8 log ;9
log , 28 3
log , 4 log ;3
log , 22 2
log , 2 log ;1
log , 2t 1
log, 1 log 4 3
log , 20 0

1
log , > log 4 9
log , 2 ! 1

Draw the following graph.
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Solve the following inequality.
log,x 3 logy;x 2
x 0

lo X lo 2?

9, 9,

3 1
x 2° 8
0 x 8

Calculate the following value.

1
lo
943
| 1
°0 -
lo 3
943_

lo 9
=

Draw the following graph.

2
;L,l ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
o 1 L X
Solve the following inequality.
log 1 x 3 log 1 x 2
2 3
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Calculate the following value.

log , 64 log , 16
MQ443 3
log , 16 log , 8
MQ442 2
log , 4 log , 4
Iog441 1
log , 1 log , 2

0
log , 4 0
mg4ﬁ%- log , 1
log , 4 ! 1

1 1
log , 76 log , 5~
Iog4162 2

Draw the following graph.
y

y/\

Solve the following inequality.

log,x 2
log , x
4 1
x 42

Iog442

log,x 4

Calculate the following value.

1
lo
9%4
11
lo t——) 1
9%4
lo 1
9_%

log 14
|og_}(%) ! 1
log 3 16
|ogL(%) ? 2
log 3 64
|og%(%) : 3

log

log

1
472

Draw the following graph.

y/\

Solve the following inequality.

X 2
x 0
1 2
X log 1 t——)
T 4
1
(ALOZ 1
4 16

log 1 x 3
2
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Solve the following Iogarith::-nic inequality.
Iogzx(x 1) 1
x(x 1) 0 x 1 0 X
Iogzx(x 1) log , 2
1
x(x 1) 2 , x2 x 2 0
(x 1)(x 2) 0 2 x 1
2 X 1,0 x 1
Iog3x(x 2) 1
Iog3(x 3) Iog3(x 5) 1
x 3 0 x 5 0
X 5
Iogg(x 3)(x 5) log ; 3
1
(x 3)(x ) 3
x2 8x 12 0
(x 2)(x ) o0 2 x 6
5 X 6
Iogz(x 2) Iogz(x 3) 1

1

Solve the following logarithmic inequality.

Iog%x(x 1) 1
x(x 1) 0 x O 1 X
|09_%_X(X 1) log 32
1
x(x 1) 2 x2 x 20
(x 1)(x 2) 0 X 1,2 x
X 1,2 X
Iong(x 2) 1
3
IogL(x 2) IogL(x 5) 2
2 2
x 2 0 x 5 0
X 2
log _;_(x 2)(x 5) log 14
1
(x 2)(x 5) 4
X2 7x 6 0
(x 1)(x 6) 0 X 6 1 x
X 1
log 1 x Iog%(x 2) 1
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Solve the following Iogarith::-nic inequality.
Iog3x(x 8) 2
x(x 8) 0 x O 8 X
Iog3x(x 8) log ; 9
1
x(x 8) 9 , x2 8x 9 0
(x 1)(x 9) 0 X 1, 9 X
X 1, 9 X
Iogzx(x 3) 2
Iogz(x 1) Iogz(x 4) 2
x 1 0 x 4 0
X 4
log, (x 1)(x 4) log, 4
1
(x 1)(x 4) 4
x> 5x 0
x(x 5) 0 x 0,5 x
5 X
Iog3(x 4) Iog3(x 2) 1

1

Solve the following logarithmic inequality.

log 1x(x 3) 2
x(x 3) 0 x O 3 X
Iog_%_x(x 3) log 34
1
x(x 3) 4 x2 3x 4 0
(x 1)(x 4) o 1 x 4
1 x 0,3 x 4
log %(x 1)(x 3) 1
log 1 x Iog%(x 2) 1
x 0 x 2 0
x 0
Iog_;_x(x 2) |09_%_3
1
x(x 2) 3
x2 2x 30
(x 1)(x 3) 0 3 x 1
0 x 1
log %(x 2) log 1(x 3) 1
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Solve the following Iogarith::-nic inequality.
Iogzx(x 3) 2
x(x 3) 0 x 3 0 X
Iogzx(x 3) log , 4
1
x(x 3) 4 , x2 3x 4 0
(x 1)(x 4) 0 4 x 1
4 X 3,0 x 1
Iog3x(x 8) 2
Iogz(x 3) Iogz(x 6) 2
x 3 0 x 6 0
X 6
Iogz(x 3)(x 6) log , 4
1
(x 3)(x ) 4
x> 9x 14 0
(x 2)(x ) 0 2 X 7
6 X 7
Iogz(x 1) Iogz(x 4) 2

1

Solve the following logarithmic inequality.

x(x 2) 0 x 2 0 X
Iog_%_x(x 1) log _%_8

1

x(x 2) 8 x2. 2x 8 0

(x 2)(x 4) 0 X 4,2 X

IogL(x 1) Iog%(x 3) 1
x 1 0 x 3 0
X 1
log _%_(x 1)(x 3) log _%_3
1
(x 1)(x 3) 3
x> 4x 0
x(x 4) 0 X 4,0 X
x 0
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Prove the following formula.

2X 3 6%, xyz#0
1 1 1
X Yy z
X y z
Iog6 2 Iog6 3 Iog6 6
z
XI0962 Z, X log_ 2
6
lo 3 z Z
y 96 Y I0963
1 I0962 1 IogG3
X z Yy z
S
X y
Iog6 2 Iog6 3 Iog6 6 1
z z z z
2X 5 107, xyz# 0
1 1 1
X Yy z

Find the value of the following expression.

1 1
X 3y 7 —
X y
7
log_ 2% log_ 3Y log. 7 1
7 7 7
Xlo 2 1 X L
95 ’ log ; 2
lo 3 1 1
Y log 7 Y log ; 3
1 1
X y Iog72 Iog73 Iog76
3* 5Y 152 10 : )1( )1/ ;
3 oY Va4 —)1( —31/




